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129 Suspended ball

A 6.0kg ball is suspended from the ceiling. A person pushes horizontally on the ball so that
the ball is at rest with the rope at an angle of 70° from the horizontal. Determine the force
exerted by the person. (111F2023)
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167 Box on a ramp
A 100kg box is at rest on a ramp that is inclined at angle 25° from the horizontal. (111F2023)

a) Determine the friction force on the box.
b) Determine the minimum coefficient of static friction between the box and ramp that

allows the box to stay at rest.
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203 Cart sliding over a hill

A 30kg cart slides over a hill, which has a circular cross-section

- of radius 12m. The speed of the cart at the highest point is
4.0m/s. Determine the normal force exerted by the hill on the
cart. (111F2023)
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